F s R TBRT-SERIES (for RT6 / R2 / RD4) CABLE RETRACTOR INSTALLATION INSTRUCTIONS
244 Bergen Boulevard, Woodland Park, NJ 07424, Phone: 973.785.4347 - Fax: 973.785.4207

RETRACTOR PACK ASSEMBLY

1. ASSEMBLE RETRACTORS (SOLD SEPARATELY) AS REQUIRED ONTO GATHER

BRACKET (4 RETRACTORS SHOWN). MOUNT 1-4 RETRACTORS IN ANY LOCATION.
RETRACTORS USING
OUTER-MOST VERTICAL
HOLE ROWS MUST
BE INSTALLED FIRST,
PRIOR TO INSTALLING
ADDITIONAL RETRACTORS
(SHOWN EXPLODED
FOR CLARITY)

RETRACTOR GATHER BRACKET

#6 FLATHEAD SCREW

#6 PANHEAD SCREW

2. ASSEMBLE GAP FILLERS IN ANY LOCATION NOT OCCUPIED BY A RETRACTOR,
AT THE DESIRED HEIGHT.

GAP FILLER BRACKET

(2) #6 FLATHEAD SCREW

3. INSTALL CHASSIS SUPPORT BRACKET. 1 REQUIRED FOR 1 RETRACTOR
INSTALLED. FOR 2 & 3 RETRACTORS SUPPORT BRACKET IS OPTIONAL.

CHASSIS
SUPPORT
BRACKET

(2) #6 FLATHEAD SCREW

43312 Sheet 1 of 16 LIT1620A



"LEFT" SIDE

RETRACTOR PACK
RETRACTOR

INSTALLATION FOR RT6-R2

IF INSTALLING BOTH "LEFT" & "RIGHT"
SIDE RETRACTORS, "RIGHT" SIDE
MUST BE INSTALLED FIRST

"RIGHT" SIDE
RETRACTOR

"LEFT" INSTALLATION

NOTE: WHEN INSTALLING RETRACTORS ON BOTH SIDES,
THE "RIGHT" SIDE MUST BE INSTALLED FIRST.

L-1. INSTALL MOUNTING BRACKET ONTO
RETRACTOR ASSEMBLY.

L-2. SLIDE RETRACTOR ASSEMBLY INTO RT6-R2 ASSEMBLY.
ALIGN RING-PIN HOLES AND INSERT (2) RING-PIN ON

RETRACTOR
ASSEMBLY BOTH SIDES OF ASSEMBLY.

HEAD
SCREW

RING-PIN HOLE
MOUNTING BRACKET

RING-PIN
RING-PIN HOLE

RING-PIN
HOLE

L-3. INSTALL SUPPORT STRUT ONTO RT6-R2 CHASSIS WITH
4" CLEVIS PIN AND SECURE WITH HAIR-PIN COTTER.
ALIGN SUPPORT STRUT HOLE WITH RETRACTOR
FLANGE HOLES AND INSERT APPROPRIATE-LENGTH
CLEVIS PIN. SECURE CLEVIS PIN WITH HAIR-PIN

COTTER. TAMPER-PROOF
SCREW HOLE

MOUNTING
BRACKET

RING-PIN HOLE

4" CLEVIS PIN

SECURE CLEVIS PIN
WITH HAIR-PIN COTTER

Sheet 5 of 16




L-4. FOR ADDITIONAL TAMPER-PROOF INSTALLATION, INSTALL #6-32 x 1/4 LONG
PAN HEAD SCREW.

#6 PANHEAD SCREW
FOR TAMPER-PROOF
INSTALLATION

"RIGHT" INSTALLATION

NOTE: WHEN INSTALLING RETRACTORS ON BOTH SIDES,
THE "RIGHT" SIDE MUST BE INSTALLED FIRST.

R-1. SLIDE RETRACTOR ASSEMBLY INTO RT6-R2 ASSEMBLY.
ALIGN RING-PIN HOLES AND INSERT (2) RING-PIN ON
BOTH SIDES OF ASSEMBLY.

WIS

o\
3= V

g RN
t‘ / 1Y i"/
N A

RING-PIN HOLE . RING-PIN HOLE 7 % } )
Hy
N e
- 3 h \
RING-PIN .@ b “”'
N
RING-PIN HOLE

TAMPER-PROOF
SCREW HOLE

Sheet 6 of 16



R-2. INSTALL SUPPORT STRUT ONTO RT6-R2 CHASSIS WITH 4"
CLEVIS PIN AND SECURE WITH HAIR-PIN COTTER. ALIGN
SUPPORT STRUT HOLE WITH RETRACTOR FLANGE HOLES
AND INSERT APPROPRIATE-LENGTH CLEVIS PIN. SECURE
CLEVIS PIN WITH HAIR-PIN COTTER.

SECURE CLEVIS PIN
WITH HAIR-PIN COTTER

R-3. FOR ADDITIONAL TAMPER-PROOF INSTALLATION, INSTALL #6-32 x 1/4 LONG
PAN HEAD SCREW.

#6 PANHEAD SCREW
FOR TAMPER-PROOF
INSTALLATION

Sheet 7 of 16



RETRACTOR PACK
INSTALLATION OPTIONS FOR RT6-RD4

IF INSTALLING BOTH "LEFT" & "RIGHT"
SIDE RETRACTORS, "RIGHT" SIDE
MUST BE INSTALLED FIRST

"LEFT" SIDE
RETRACTOR

STANDARD INSTALLATION

"RIGHT" SIDE
RETRACTOR

"RIGHT" SIDE

INSTALLATION VIEWED FROM
THIS SIDE IS IDENTICAL

REVERSE INSTALLATION

——

—

[t

"LEFT" SIDE %
STANDARD

INSTALLATIOIN

"LEFT" SIDE
REVERSE
INSTALLATIOIN

LLL
I

"RIGHT" SIDE
STANDARD
INSTALLATIOIN

I3

"RIGHT" SIDE
REVERSE —]

INSTALLATIOIN
| O

Sheet 8 of 16



"LEFT" STANDARD INSTALLATION

NOTE: WHEN INSTALLING RETRACTORS ON BOTH SIDES,
THE "RIGHT" SIDE MUST BE INSTALLED FIRST.

LS-1. INSTALL MOUNTING BRACKET ONTO LS-2. SLIDE RETRACTOR ASSEMBLY INTO RT6-RD4
RETRACTOR ASSEMBLY. ASSEMBLY. ALIGN RING-PIN HOLES AND INSERT
(2) RING-PIN ON BOTH SIDES OF ASSEMBLY.

RETRACTOR
ASSEMBLY MOUNTING

BRACKET

#6 PAN-HEAD
SCREW

RING-PIN
HOLE

RING-PIN RING-PIN HOLE

RING-PIN
RING-PIN RING-PIN HOLE
RING-PIN HOLE — 'E\;ASEQJEINTG

TAMPER-PROOF —
SCREW HOLE

LS-3. INSTALL SUPPORT STRUT ONTO RT6-RD4 CHASSIS WITH 4" CLEVIS PIN AND SECURE WITH
HAIR-PIN COTTER. ALIGN SUPPORT STRUT HOLE WITH RETRACTOR FLANGE HOLES AND
INSERT APPROPRIATE-LENGTH CLEVIS PIN AND SECURE WITH HAIR-PIN COTTER.

SUPPORT STRUT

/

4" CLEVIS PIN

SECURE CLEVIS PIN

WITH HAIR-PIN COTTER
Sheet 9 of 16



RING-PIN HOLE

AL L L1 L L T )
—-—

A °20%%Q%%00%% o
Oare 2 22

RING-PIN

RING-PIN HOLE
RING-PIN

RING-PIN HOLE

(2) RING-PIN ON BOTH SIDES OF ASSEMBLY.

THE "RIGHT" SIDE MUST BE INSTALLED FIRST.

P4
)
f
<<
-
—J
<
[
[0}
Z

NOTE: WHEN INSTALLING RETRACTORS ON BOTH SIDES,

PAN HEAD SCREW.
HOLES AND INSERT

"RIGHT" STANDARD INSTALLATION
RING-PIN

L
=6
o O
o
? e
=g
Sa
I=
z<
<<
o
£

LS-4. FOR ADDITIONAL TAMPER-PROOF INSTALLATION, INSTALL #6-32 x 1/4 LONG
RS-1. SLIDE RETRACTOR ASSEMBLY INTO RT6-RD4 ASSEMBLY. ALIGN RING-PIN

TAMPER-PROOF
SCREW HOLE

Sheet 10 of 16



RS-2. INSTALL SUPPORT STRUT ONTO RT6-RD4 CHASSIS WITH 4" CLEVIS PIN
AND SECURE WITH HAIR-PIN COTTER. ALIGN SUPPORT STRUT HOLE
WITH RETRACTOR FLANGE HOLES AND INSERT APPROPRIATE-LENGTH
CLEVIS PIN AND SECURE WITH HAIR-PIN COTTER.

4" CLEVIS PIN

/ CLEVIS PIN

SUPPORT STRUT

SECURE CLEVIS PIN
WITH HAIR-PIN COTTER

RS-3. FOR ADDITIONAL TAMPER-PROOF INSTALLATION, INSTALL #6-32 x 1/4 LONG
PAN HEAD SCREW.

#6 PANHEAD SCREW
FOR TAMPER-PROOF
INSTALLATION

Sheet 11 of 16



"LEFT" REVERSE INSTALLATION

NOTE: WHEN INSTALLING RETRACTORS ON BOTH SIDES,
THE "RIGHT" SIDE MUST BE INSTALLED FIRST.

7

LR-1. INSTALL MOUNTING BRACKET ONTO
RETRACTOR ASSEMBLY.

RETRACTOR
ASSEMBLY\\ |_— #6 PAN-HEAD
SCREW

~— RING-PIN

RING-PIN MOUNTING
HOLE BRACKET

LR-2. INSTALL SUPPORT STRUT ONTO RT6-RD4 CHASSIS WITH 4" CLEVIS PIN AND
SECURE WITH HAIR-PIN COTTER.

4" CLEVIS PIN

4" CLEVIS PIN

SECURE CLEVIS PIN
WITH HAIR-PIN COTTER



LR-3. SLIDE RETRACTOR ASSEMBLY INTO RT6-RD4
ASSEMBLY. ALIGN RING-PIN HOLES AND INSERT
(2) RING-PIN ON BOTH SIDES OF ASSEMBLY.

RING-PIN HOLE

a &
= 2
6 /
", \\Y

[
of>z
—

TAMPER-PROOF RING-PIN HOLE
SCREW HOLE

LR-4. ALIGN SUPPORT STRUT HOLE WITH RETRACTOR FLANGE HOLES AND INSERT
APPROPRIATE-LENGTH CLEVIS PIN AND SECURE WITH HAIR-PIN COTTER.

SECURE CLEVIS PIN
WITH HAIR-PIN COTTER

Sheet 13 of 16



LR-5. FOR ADDITIONAL TAMPER-PROOF INSTALLATION, INSTALL #6-32 x 1/4 LONG
PAN HEAD SCREW.

#6 PANHEAD SCREW
FOR TAMPER-PROOF
INSTALLATION

//
"RIGHT" REVERSE INSTALLATION ol L
|
<

NOTE: WHEN INSTALLING RETRACTORS ON BOTH SIDES,
THE "RIGHT" SIDE MUST BE INSTALLED FIRST.

RR-1. INSTALL SUPPORT STRUT ONTO RT6-RD4
CHASSIS WITH 4" CLEVIS PIN AND SECURE
WITH HAIR-PIN COTTER.

4" CLEVIS PIN

SECURE CLEVIS PIN

WITH HAIR-PIN COTTER
Sheet 14 of 16

SUPPORT STRUT



RR-2. SLIDE RETRACTOR ASSEMBLY INTO RT6-RD4 ASSEMBLY. ALIGN RING-PIN
HOLES AND INSERT (2) RING-PIN ON BOTH SIDES OF ASSEMBLY.

TAMPER-PROOF
RING-PIN HOLE SCREW HOLE

RR-3. ALIGN SUPPORT STRUT HOLE WITH RETRACTOR FLANGE HOLES AND INSERT
APPROPRIATE-LENGTH CLEVIS PIN AND SECURE WITH HAIR-PIN COTTER.

CLEVIS PIN

SECURE CLEVIS PIN
WITH HAIR-PIN COTTER

Sheet 15 of 16



RR-4. FOR ADDITIONAL TAMPER-PROOF INSTALLATION, INSTALL #6-32 x 1/4 LONG

PAN HEAD SCREW.

#6 PANHEAD SCREW

FOR TAMPER-PROOF
INSTALLATION

Sheet 16 of 16





